L HYE —

/20

B OoToh)EzLILL,

R
R
g+ 6=—1 = ®>+8=—1 =
L




2L HYVE —

/20

B OoToh)EzLILL,

2 8 2 X 3 3 7 9 7 X 7 49
3 .1 _ 3x% _ 3 8 . I 0 't
@5 4 8 X | 2 g2 9 %2 9
8 6 L8 X | 4 9 8 9 x 3 27
8 . 2 _ 8&%x9q _ 7 . 4 _ 7Tx9 _ 17
Ve 9T axz ¢ P99 axa T
|, _ X 6 . o _ &xXI1 _ 3
Og ¢ =39%s "5  ©O978=7%g ~ 28
. 3 _ 8x8 _ 2 .1 _ 2x3 2
@3'8 | X3 8 q 3 9 X | 3
L3 _ 8X7 _ 56 3 .3 _ 8x8 _ 8
@ 8 7 | X 3 3 @7 8 7 X 3 7
8 . I _ 8x38 _ 8 .2 X T
<—7'3 9 X | 3 8"7 8 X 2 16
.5 _ 8x6 _ L2 _ &x3 _
@5+ F="Txs = ° ©8+3="7%xg =12
5 .4 _ 5x9 _ 5 4oL o Ax
O +9=9xs ~ 4 @5 8 ="5x8 "0




